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1. Complete the following :

Sr. No. Equation Value Say, whether the equation
statisfied (Yes/No)

] x+3={ x=3
(i) x+3=0 | x=-5§
(1i7) x—=3=] x=3

(i) x-3=] x==3

Sr.No: | Equation | Value | Say, whether the equation
statisfied (Yes/No)
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o Watch Video Solution

2. Check whether the value given in the

brackets is a solution to the given equation or


https://dl.doubtnut.com/l/_IwnTrRBmCgrd
https://dl.doubtnut.com/l/_1gGHpRmbPsuN

not.

r+4=11(z = T7)

° Watch Video Solution

3. Check whether the value given in the
brackets is a solution to the given equation or
not.

8 + 4 = 28(z = 4)

o Watch Video Solution



https://dl.doubtnut.com/l/_1gGHpRmbPsuN
https://dl.doubtnut.com/l/_MTAh3ch2kDph

4. Check whether the value given in the
brackets is a solution to the given equation or
not.

3m —3=0m=1)

o Watch Video Solution

5. Check whether the value given in the

brackets is a solution to the given equation or



https://dl.doubtnut.com/l/_Hd3nmEIEz9Op
https://dl.doubtnut.com/l/_HWFT5Ae6ItmT

| ¥ Watch Video Solution |

6. Check whether the value given in the
brackets is a solution to the given equation or
not

4p -3=13(p =0)

° Watch Video Solution

7. Solve the following equations by trial and
error method

b + 2 =17


https://dl.doubtnut.com/l/_HWFT5Ae6ItmT
https://dl.doubtnut.com/l/_ObIbdqw1vw5N
https://dl.doubtnut.com/l/_tYIEN7JEzhwT

° Watch Video Solution

8. Solve the following equations by trial and

error method

3p—14 =14

° Watch Video Solution

9. Write equations for the following
statements:

The sum of numbers x and 4 is 9.

| e |


https://dl.doubtnut.com/l/_tYIEN7JEzhwT
https://dl.doubtnut.com/l/_0KczBv5fmtup
https://dl.doubtnut.com/l/_L9spa5KOMar2

L ® Watch Video Solution

10. Write equations for the following
statements.
3 subtracted from y gives 9
° Watch Video Solution
1. Write equations for the following

statements.

Ten times x is 50

l ° Watch Video Solution


https://dl.doubtnut.com/l/_L9spa5KOMar2
https://dl.doubtnut.com/l/_yM45vy8o8cDd
https://dl.doubtnut.com/l/_0H5o7c7Xx8Wu

12. Write equations for the following

statements.

Nine times x plus 6 is 87

° Watch Video Solution

13. Write equations for the following

statements.

One fifth of a number y minus 6 gives 3.

° Watch Video Solution



https://dl.doubtnut.com/l/_0H5o7c7Xx8Wu
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14. Write the following equations in statement

form :

r—2=206

° Watch Video Solution

15. Write the following equations in statement

form :

3y —2 =10

° Watch Video Solution



https://dl.doubtnut.com/l/_D3rtvRkRQpWW
https://dl.doubtnut.com/l/_l39BOQsZChYo
https://dl.doubtnut.com/l/_ltdPHImMp0oc

16. Write the following equations in statement

form :

6"

° Watch Video Solution

17. Write the following equations in statement

form :

Tz —15=34

° Watch Video Solution



https://dl.doubtnut.com/l/_ltdPHImMp0oc
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18. Write the following equations in statement
form :

= 49—
2—i— 8

o Watch Video Solution

19. Write an equation for the following
statements :
Raju's father's age is 4 years more than five

times Raju's age. Raju's father is 54 years old.

° Watch Video Solution



https://dl.doubtnut.com/l/_chmBNlaTfmZ5
https://dl.doubtnut.com/l/_ztsqyItPRrdi

20. Write an equation for the following
statements :

A teacher tells that the highest marks
obtained by a student in his class is twice the
lowest marks plus 6. The highest score is 86.

(Take the lowest score, to be x).

o Watch Video Solution

21. Write an equation for the following

statements :


https://dl.doubtnut.com/l/_ztsqyItPRrdi
https://dl.doubtnut.com/l/_fp8spXxDE0qI
https://dl.doubtnut.com/l/_fVHdkgpdDiP6

In an isosceles triangle, the vertex angle is

twice either base angle .

o Watch Video Solution

22. A shopkeeper sells mangoes in two types
of boxes, one small and one large. A large box
contains as many as 8 small boxes plus 4 loose
mangoes. Set up an equation which gives the
number of mangoes in each small box. The
number of mangoes in a large box is given to

be 100.

| e |


https://dl.doubtnut.com/l/_fVHdkgpdDiP6
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& Watch Video Solution I

1. Give first the step you will use to separate
the variable and then solve the equation:

x+1=0

° Watch Video Solution

2. Write the first step that you will use to

separate the variable and then solve the


https://dl.doubtnut.com/l/_wfMtJaA4B5jN
https://dl.doubtnut.com/l/_DaEJ69YvmgmZ
https://dl.doubtnut.com/l/_FF5RDnOipJgr

equation.

r—1=25

° Watch Video Solution

3. Give first the step you will use to separate
the variable and then solve the equation:

X+6 =2

° Watch Video Solution



https://dl.doubtnut.com/l/_FF5RDnOipJgr
https://dl.doubtnut.com/l/_MWKUYLYxbAaq

4, Give first the step you will use to separate
the variable and then solve the equation:

y+4 =4

o Watch Video Solution

5. Write the first step that you will use to
separate the variable and then solve the

equation.

y—3=3

° Watch Video Solution



https://dl.doubtnut.com/l/_gvcGcKeJISmM
https://dl.doubtnut.com/l/_3ColvjT4uQOs

6. Write the first step that you will use to
separate the variable and then solve the
equation :

3r = 15

o Watch Video Solution

7. Give first the step you will use to separate

the variable and then solve the equation:

C—]
7

o Watch Video Solution



https://dl.doubtnut.com/l/_3ColvjT4uQOs
https://dl.doubtnut.com/l/_fCmSkCTirzhB
https://dl.doubtnut.com/l/_SatLD0fnjlIy

8. Write the first step that you will use to
separate the variable and then solve the
equation :

Ty = 36

o Watch Video Solution

9. Write the first step that you will use to

separate the variable and then solve the


https://dl.doubtnut.com/l/_SatLD0fnjlIy
https://dl.doubtnut.com/l/_ncfBJzWzS96R
https://dl.doubtnut.com/l/_P60sxVeY04dA

equation :

20 = — 40

° Watch Video Solution

10. Give the steps you will use to separate the

variable and then solve the equation.

b + 7 =17

° Watch Video Solution



https://dl.doubtnut.com/l/_P60sxVeY04dA
https://dl.doubtnut.com/l/_dIm50lV83Tnk

11. Give the steps you will use to separate the

variable and then solve the equation:

20p B

4
3 0

° Watch Video Solution

12. Give the steps you will use to separate the
variable and then solve the equation.

3p — 2 =46

° Watch Video Solution



https://dl.doubtnut.com/l/_gvjkG8LfZQxC
https://dl.doubtnut.com/l/_2afCxQrWD1Za
https://dl.doubtnut.com/l/_b2JTMPU8CbMl

13. Solve the following equations :

20z + 20 = 200

o Watch Video Solution

14. Solve the following equations :

P _

3 5

o Watch Video Solution



https://dl.doubtnut.com/l/_b2JTMPU8CbMl
https://dl.doubtnut.com/l/_H5gj6qWME0VW

15. Solve the following equations :

3 +12=0

o Watch Video Solution

16. Solve the following equations:

2g-6=0

o Watch Video Solution



https://dl.doubtnut.com/l/_bfH2ayzg6jim
https://dl.doubtnut.com/l/_hC6kvwWtFIxI

17. Solve the following equations :

3p=20

o Watch Video Solution

18. Solve the following equations:

o Watch Video Solution



https://dl.doubtnut.com/l/_dhWnPxvnsHds
https://dl.doubtnut.com/l/_bv4tskM4htB7
https://dl.doubtnut.com/l/_TIxy7ko2CVk5

1. Solve each of the following equation.

6 + 10 = — 2

o Watch Video Solution

2. Solve each of the following equation.

2 — 3 =2

° Watch Video Solution



https://dl.doubtnut.com/l/_TIxy7ko2CVk5
https://dl.doubtnut.com/l/_wG2Dg9ljZQTx

3. Solve each of the following equation.

had — 9
5-|—3

o Watch Video Solution

4. Solve each of the following equation.

3T 2

2 3

o Watch Video Solution



https://dl.doubtnut.com/l/_EHmLT1WGc6Ww
https://dl.doubtnut.com/l/_JxaPKrdXdTBx

5. Solve each of the following equation.

o= —5
2% T T

o Watch Video Solution

6. Solve each of the following equation.

2w+5—37
2 2

o Watch Video Solution



https://dl.doubtnut.com/l/_WX6Q3aplsXjX
https://dl.doubtnut.com/l/_VWQT9pLLZhTz

7.Solve the following equations :

5(x + 1) = 25

o Watch Video Solution

8. Solve the following equations :

2(3z — 1) = 10

o Watch Video Solution



https://dl.doubtnut.com/l/_L2dvjkDs41qG
https://dl.doubtnut.com/l/_QnriMXF8j5wY

9. Solve the following equations:

4(2-x)=8

o Watch Video Solution

10. Solve the following equations:

-4(2+x)=8

o Watch Video Solution



https://dl.doubtnut.com/l/_w0Hg2URwa6oy
https://dl.doubtnut.com/l/_fK4F8770MJHW

11. Solve the following equations :

4 =5(x — 2)

o Watch Video Solution

12. Solve the following equations :

—4 =5(z — 2)

o Watch Video Solution



https://dl.doubtnut.com/l/_LYnJw1negG9r
https://dl.doubtnut.com/l/_Y2KPKQGI6fnI

13. Solve the following equations:

4 +5(p-1)=34

o Watch Video Solution

14. Solve the following equations :

6y —1=2y+1

o Watch Video Solution

15. Construct 3 equations starting with x = 2



https://dl.doubtnut.com/l/_pr6ys8QFzX0J
https://dl.doubtnut.com/l/_n6dbVHfWLjcH
https://dl.doubtnut.com/l/_EZdCY3fmrkyV

o Watch Video Solution

16. Construct 3 equations starting with x= -2

o Watch Video Solution

17.1f 7x + 4 = 39, then x is equal to

A.6

C.5


https://dl.doubtnut.com/l/_EZdCY3fmrkyV
https://dl.doubtnut.com/l/_c4sQVpVbRfP0
https://dl.doubtnut.com/l/_mo23mE0bbtiv

D.8

Answer:

o Watch Video Solution

18.1f 8m — 8 = 56 then m is equal to

A —4
B. —2
C.—14

D.8


https://dl.doubtnut.com/l/_mo23mE0bbtiv
https://dl.doubtnut.com/l/_m91KqQdYtdqh

Answer:

o Watch Video Solution

19. Which of the following number satisfies the

equation —6 4+ = — 187

A.10

B. —13

C.—12

D. —16


https://dl.doubtnut.com/l/_m91KqQdYtdqh
https://dl.doubtnut.com/l/_eek5MJwC4tKd

Answer:

o Watch Video Solution

20. If % = 14 then the value of 2x + 6 is equal
to

A. 62

B. — 64

C.16

D. — 62


https://dl.doubtnut.com/l/_eek5MJwC4tKd
https://dl.doubtnut.com/l/_QoXLSLb5f714

Answer:

o Watch Video Solution

21. If 3 subtracted from twice a number is 5,

then the numberis

A —4
B. —2
C.2

D.4


https://dl.doubtnut.com/l/_QoXLSLb5f714
https://dl.doubtnut.com/l/_sbLCNvReQvP6

Answer:

o Watch Video Solution

22. If 5 added to thrice an integer is -7, then

the integer is,

A —6
B.—5
C.—4

D.4


https://dl.doubtnut.com/l/_sbLCNvReQvP6
https://dl.doubtnut.com/l/_RLt7U8gwRAQp

Answer:

o Watch Video Solution

1. If 7 is added to five times a number, the

result is 57. Find the number.

o Watch Video Solution



https://dl.doubtnut.com/l/_RLt7U8gwRAQp
https://dl.doubtnut.com/l/_UxXfJ2kYMURa

2.9 decreased from four times a number yields

43. Find the number.

° Watch Video Solution

3. Set up equations and solve them to find the
unknown numbers in the following cases:

One-fifth of a number minus 4 gives 3.

° Watch Video Solution



https://dl.doubtnut.com/l/_wLSuxATZ2DIi
https://dl.doubtnut.com/l/_59Z4GH6BtCMD

4.1n a class of 35 students, the number of girls
is two-fifth the number of boys. Find the

number of girls in the class.

o Watch Video Solution

5. Sham's father's age is 5 years more than
three times Sham's age. Find Sham's age, if his

father is 44 years old.

o Watch Video Solution



https://dl.doubtnut.com/l/_cSMlKJnHOfM2
https://dl.doubtnut.com/l/_CzBAzj7JuELK
https://dl.doubtnut.com/l/_qWuH3tJSCv6y

6. In an isoscels triangle the base angles are
equal. The vertex angle is 50° .What are the
base angles of the triangle ? '(Remember, the

sum of three angles of a triangle is 180° )

o Watch Video Solution

7.Solve the following:
Irfan says that he has 7 marbles more than five
times the marbles Parmit has. Irfan has 37

marbles. How many marbles does Parmit have?

o Watch Video Solution



https://dl.doubtnut.com/l/_qWuH3tJSCv6y
https://dl.doubtnut.com/l/_hb53OqPhBAbP

8. The length of a rectangle is 3 units more
than its breadth and the perimeter is 22 units.

Find the breadth and length of the rectangle.

o Watch Video Solution

Other Important Questions | Multiple Choice

Questions



https://dl.doubtnut.com/l/_hb53OqPhBAbP
https://dl.doubtnut.com/l/_JDy9oYT8s5Cm

1. Which of the following is a solution of

equation :% =27

A —6

B.O

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_2GV1GKOxOkp8
https://dl.doubtnut.com/l/_ibvBvwBeYsjw

2. Which of these is a linear equation ?

A 3z + 11

B.2x + 5 <11

Cx—5H5=Tx+6

br + 6
6

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ibvBvwBeYsjw

3. The sum of three times x and 12 is 33. Its

equation form is :

T

A — + 12 = 33
3 + 3
xr
B.— — 12 =
3 33
C.3xz +12 = 33
D.3x — 12 = 33
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_sNcokspygODW
https://dl.doubtnut.com/l/_Y2EZvQmI4ojv

4. Solution of equation x-7=1is

A7

C.8

D.6

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Y2EZvQmI4ojv

5. The sum of a number and 4 is 12. Then the

number will be:

A4

B.16

C.8

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_GWK8C3d4IDPQ
https://dl.doubtnut.com/l/_MNkUiXerGwfN

6. If 3 is added to one third of Z the number
obtained is 30. The equation of statement will

be:

A3z+3 =30

B.3z =30+ 3

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_MNkUiXerGwfN
https://dl.doubtnut.com/l/_usQL1Y3LU85Y

7. Which of the following is a solution of

3
equation Tp =67

A.6

B.8

C.4

D.3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_usQL1Y3LU85Y

8. If we take 11 from the twice a number we get

15. The number will be.

A2

B. 26

C.13

D. 52

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_7Tq0tDroMCEk
https://dl.doubtnut.com/l/_MG2pGxmIT4xQ

9. The length of a rectangle is twice than that

of its breadth. If its perimeter is 60 m. Then its

length will be

A.30m

B.20 m

C.10 m

D.60 m

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_MG2pGxmIT4xQ
https://dl.doubtnut.com/l/_nZmC3Trgk5TA

10. The sum of two consecutive natural

numbers is 63. Then natural numbers will be:

A. 29,34

B.30,33

C. 31,32

D. 28,35

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_nZmC3Trgk5TA

Other Important Questions li Fill In The Blanks

1. Letter number 'x' used in equation is called

o Watch Video Solution

2. An equation is a ... that sets two

expressions equal.

° Watch Video Solution



https://dl.doubtnut.com/l/_RbvpwI1QsG0n
https://dl.doubtnut.com/l/_hnM0OTcelJOa
https://dl.doubtnut.com/l/_yownf5ymdiTW

3. A number which satisfies the given equation

is called a ... of the equation.

o Watch Video Solution

4. An equation containing onlyone variable
with highest power 1 is called a ... in one

variable.

o Watch Video Solution



https://dl.doubtnut.com/l/_yownf5ymdiTW
https://dl.doubtnut.com/l/_V6OhfUIX6tVB

5. An equation remains the ... if the L.H.S.

and R.H.S are inter changed

o Watch Video Solution

Other Important Questions lii State Whether The

Following Statements Are True Or False

1. The same quantity can be added to both
sides of an equation without disturbing the

balance.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_pBqFN0BACOte
https://dl.doubtnut.com/l/_wo6kK9CaQMPi

2. When a number 'multiplied on one side of
an equation is transposed to the other side, it

multiplies the terms on other side.

° Watch Video Solution

3. When a number subtracted on one side is

transposed to the other side, it is added.

o Watch Video Solution



https://dl.doubtnut.com/l/_wo6kK9CaQMPi
https://dl.doubtnut.com/l/_BpwTAkqNXiRU
https://dl.doubtnut.com/l/_UZEraisHosss

4. The number which satisfies the given linear
equation is called the solution of the

equation.

o Watch Video Solution

5. The process of finding the particular value
of the variable which makes both sides of the

equation equal is called solving the equation.

o Watch Video Solution



https://dl.doubtnut.com/l/_6JDdZijgfgjX
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